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4.7 Inverse Trigonometric Functions

*Note: For a function to have an inverse function, it must be one-
to-one; that is, it must pass the horizontal line test.
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Graph of y =cos x
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Graph of y = arccos x
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Graphofy = tan x
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Graph of y = arctan x
x:ta“-"l/ - | a ’ \“\ RiEhEN _/Bomain:
__TT-'IT r T‘- S _
F relgl@ glh 1 Gerye2)

1 -07 os Range: —
s/ e (’ % ﬂ:
. )2




Notes 4.7 (1718) 1a.notebook

January 02, 2018

!
Summarize the domain and range for each inverse trigonometric function. A%—‘T
&
Function Domain Range —/‘/; Quadrants
y = asin L/, 1] % i
¥ = arccos x - I, ),’T—) j:\j_
= TT aT '
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In 1 -9, find the exact value of each expression without a calculator. \
T ox Y
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1. aIcsiﬂ[—l] = - _L 2. sin™ ﬁ < sin~'(2) ‘(\()Sg
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4. arccos 2= |~ - 5. cos7M(-1) as 6. arccos = | =
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7. arctan 0 ;O 8. tan!(-1) = 'q 9. arctanﬁ z
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For You @ In 10 - 18, find the exact value of each expression without a calculator.
10.arcsin(-1)_ ~ 1T 1. sin*l[lJ D 12. sin'(v3) = hojgslbfg
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13. cos"l[—;] - /3,_ 15. COS_I(«E) (\D/\/gS(-bw
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In 19 - 30, find the exact value of each expression without a calculator.

— l,* 21. &:os(cos_1 1) - ’
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19. tan arctan 20. arcsin/sin—
ol = - & ;

22. tan(arctan(-14)) = - [ { 23. sin(arcsin ) 24. cos(arccos(0.54))
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28. cot(arccos3x)

29. cot[

arctan—
X
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30. csq arctan—
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